v °ﬂ a2 E°1 1071, & &°] 570 501 Ao, o] TolA Ae=
HtEE 270 E A o, AZode A2 & F HAC @ Eo] 42
fz%%%? (B, Aol 7Ad =2 A B4 =)

O]

ol 1o
S
|
©
|
®
|
©
|



— |

[a\ M Rap



25 Tt & o, wE 5 Qe wEl e iee?
A
B F
C E
D

@D 874 @ 1074 3 1274 @ 1571 3 2070



4.

o 133 Zo] Az 9loll 6719 A A, B, C, D, E, F7} Qltt.
o5 & Ml A& ool s 4 Sl Al F # 7 AN

A

@ 5 7HA @ 9 7HA] ® 10 714

@ 20 714 ® 30 7HA]



o

@)
247
H
®
36 71
)
487
i
®
607
i

@
1270



AC 9l o] %

O AB =

B

-

A7)

AB ¢l o]5H

@ BC =

Folt.

@ /ABE = /CBF ©]t},

T

N
<A

70

A

T

s

® AABC

® /DAB = 100° o]|t}.



- E =0 [} %EH, ZBAC—’] 37]
9

@D 120° Q@ 122° 3 124° @ 126° B 128°



8. AABCOIA HI17F WAL o, 2x 9] 27|17

A

@D 20° ® 25° 3 30° @ 40° B 50°



9. AABC A H 1+ WAolth o3 -3 Zo] «C = 76° & o,
/ADB + /BEA & 75}H?

A

76,

@D 190° ® 195° 3 201° @ 204° 3B 205°



10. AABC oA HTE WAL o, /v + 1y 2 A
712

z 727

ve)

@D 190° ® 191° 3 192° @ 194° B 198°



11. o8 I¥oA A 1= aABCO U401l AB = 8cm, BC =
10cm, AC = 15cm ¥ o, AABC 2] Hole} AAIC 2] Hlo]e] H]=9

®2:1 @ 30:17 ® 32:15



12.

AZ447Ye ABC °fl 9 0 7F WA = %
“Fstolet.

A= o,

@® (54 - 6m) cm?
® (54 —8r) cm?

® (54 - 107) cm?

@ (54— Tr)cm?

@ (54 - 97) cm?



13. of& 2™l 9 1= aABC o] Waldoltt. ¥ 1 o] F39] Z2ol7t
67, AABC °] E2]l0] Zo|7} 32 o wj, A7t F7 9] yo]=?

A
i
B C
@ 48 -9 @ 9n-24 ® 24 - 67

@ 42 — 67 ® 52 —9r



14. o 33X aABC & € = 90° & HZH4tztgo|th. AB
20cm, BC = 16cm, CA = 12cm ©]2 A I 7} AABC o] Y

o,
ATAB ©] §ol& a2t

® 30cm? @ 35cm? @ 40cm?

@ 45cm? 3 50cm?



15. o2 I™oA F 1E AABC 9] WAoot WYL vix&2] Aol7t
3cm ©]1, AABC 9] Yo7l 48cm? € o, AABC 9] Ed|2] do|=?

@D 32cm ® 34cm 3 36cm @ 928cm 3 40cm



